SOUTH NORTH EAST WEST
W150X37 \ ! 220 HOLE IN JACKING BEAM B B
JACKING BEAM v \|° AND 220 X 26 LONG SLOTTED EXIST GUSSET PLATES
N\_o ] 22% HOLE FOR HOLES IN BUILT T SECTION
BUILT T SECTION, \ T M20 BOLT WEB FOR M20 BOLT (TYP)
REFER TO DETAIL o \\ o
N\ BUILT T SECTION,
o Joll / REFER TO DETAIL
O ] (%)) T P
A N 0] f %‘o o
IHANIS I N Xs il W150X37 JACKING
ol ol \ ~0® z - " M :/ BEAM WEB
Y = w = o
T (o} Ol " @) \) O = 2 5 % o = O :”: O N
FIELD DRILL THESE ; ' ;1 N B ‘ SR vlo > ,_\5 ot o EXIST BOTTOM
3 LOCATIONS TO MATCH 5 VVO: j ? _}IL a ) B | _\ k,/‘_ B _OJ < é aIJ @E7\ :ii: J CHORD MEMBER
H Il % [
E)lelﬂ $ IgEEgTTng\]ES e | | | g g © li|il °N 200X200X25 THICK
O K PRI O i o K JACKING BASE PLATE
! i 1
S . = ol I EJ!’LO[ ,~— 200x200x6 THICK
) TEFLON SHEET
T \—— JACK AND 2 o 1
200X200X25 THK o JACKING JACK AND JACKING
JACKING BASE PLATE 0 . PLATES 10 . / PLATES
AN AN
200X200X6 THK - 270X430X25 THICK
TEFLON SHEET . A? = 5 N BASE PLATE
i N 7 ‘\ _@. _ﬁ]—
j = | 7% 7 TOP OF EXIST TOP OF EXIST 07 4
N PIER CAP PIER CAP N
270X430X25 THICK BASE PLATE L | X ‘
/ | | PEDESTAL PEDESTAL = 9 i 270X430X6 THICK
270X430X6 THICK FABREEKA PAD " " 4 FABREEKA PAD
[ Q Q A X )
HILTI HIT-RE 500 V3 WITH 278+ 375 . 330+ & & 4.9 HILTI HIT-RE 500 V3 WITH
19@ HAS ROD WITH 100mm | ) 19@ HAS ROD WITH 100mm
MINIMUM EMBEDMENT ’ MINIMUM EMBEDMENT
¢ JACKING ¢ BEARING TOP OF EXIST TOP OF EXIST
PIER CAP PIER CAP \/\\/
297+
|
w 1:10 \IJ 1:10
338 ,
SOUTH | NORTH
G JACKING
—_ 220 HOLE FOR
~ M20 BOLT
b (TYP)
278 60
| |
o 190
HILTI HIT-RE 500 V3 WITH Lo
19@ HAS ROD WITH 100mm -
MINIMUM EMBEDMENT — | "0 0] O SOUTH / NORTH a
- [ N7 | _ -1 - | -
g |/
= - TYP
E E e \,\\ o o 8 JACK AND JACKING 22 HOLES o
G i [ P - 3l 3 PLATES (BELOW) 50 , 45 , 45 50 FOR M20 BOLT @
AT B g Ng——— . | v
/\\ I © = 0 _// ! ™ ~ | ! |
25 THK BASE PLATE —— 1 w3 g —‘
& SE |, \ 777 7
JACK AND JACKING —- 7T i LA 7 1N S
PLATES = 1 A ! of Y
\ / 1 -~
() 4 o
| \ o L = TYP
| < é \\\ e
230 | _@0 D el \ 200X200X25 THK 16
|
EXIST PIER CAP 270 L - ' 2203 X 26 LONG -
PEDESTAL W150X37 / JACKING BASE PLATE SLOTTED HOLES IV

4

TYPE A - SECTION

(4
N

JACKING NOTES:

1:10

1. REFER TO SHEET 5 FOR JACKING NOTES.

2. GRIND AND LEVEL CONCRETE SURFACE PRIOR TO INSTALLING
FABREEKA PAD AND JACKING BASE PLATE.

G JACKING

2

JACKING BEAM

154
32i45'45i32
RoliNo
ol
oliNe
OO
OO
O O
O | O
Shave

SOUTH

BUILT T SECTION,
REFER TO DETAIL

235+

W150X37 JACKING BEAM

EXIST BOTTOM
CHORD MEMBER

M20 BOLT (TYP)

/ W150X37

200X200X25 THICK
JACKING BASE PLATE

NORTH
22 HOLE IN JACKING BEAM
AND 220 X 26 LONG SLOTTED
HOLES IN BUILT T SECTION
WEB FOR M20 BOLT (TYP)
EXIST BOTTOM
51 CHORD MEMBER
—— EXIST GUSSET
PLATES |
+l
[Te]
AN
| |
j H| !
R | I = —
AL 2
¢ |
_/( ! DL|
T / | J‘_)' |
\ I3
by
60 375 278+
|
¢ BEARING ¢ PIER 6
¢ JACKING
- |- 1:10 -
EXIST BEARING BELOW NOT SHOWN FOR CLARITY
72 190
40 50 , 45 , 45 , 50
| !
‘ | |
Tp] ! To]
” b o et
~ |/~ 220X 26 LONG | \‘J wlo
SLOTTED HOLE ! ! |
C)/ (TYP) Sl
nlo
! CP ! CP n|©
3 I I NMIC)]
" D N AN
3 T
o @ o
Q % Q Q Os\"\L‘ Q\
Q ]
< = FIELD DRILL THESE 3
o @ . / LOCATIONS TO MATCH
© ik EXIST RIVET HOLES
D O‘/ INTO BUILT T SECTION
|
/'I'\ |
0
® |

79\ BUILT T - DETAIL

NOTE:
EXIST PIER 6 CONCRETE PEDESTAL
REINFORCEMENT SHALL BE SCANNED AND
VERIFIED PRIOR TO JACKING SPAN 18 TRUSS.
B.M.
ELEV. @
DISCLAIMER ORIGINAL DRAWING Winni \g PUBLIC WORKS DEPARTMENT
THE PROPOSED DESIGN COMPLETED BY TETRA TECH CANADA INC IS BASED ON REV'S'%NY"POA" V?/,ESLED BY I
COMPETENT STEEL AND CONCRETE MEMBERS AND CONNECTIONS WITH LIGHT DESIGNED g REVIEWED \n Y. CITY DRAWING NUMBER
CORROSION. TETRA TECH CANADA INC CANNOT GUARANTEE THAT THERE ARE — e TS BY BY 24.05.14 ARLINGTON BRIDGE REHABILITATION B106-24-06
ADDITIONAL STRUCTURAL STEEL OR CONCRETE DEFECTS, NOT EVIDENT DURING — MANITORA DRAWN APPROVED BEARING REPLACEMENT —
TETRA TECH CANADA INC 2023 INSPECTION, THAT MAY IMPACT THE DESIGNED 3 o BY EV BY MJB
BEARING REPLACEMENT. THE DESIGNED BEARING REPLACEMENT DOES NOT Certificate of Authorization Jy——" TE
ENSURE PUBLIC SAFETY, RATHER PROVIDES SOME LEVEL OF COMFORT THAT Tetra Tech Canada Inc. SCALE: AS NOTED — PIER 6
THE PRATT TRUSS EXPANSION AND CONTRACTION IS NOT OBSTRUCTED. :
No. 6499 00 | ISSUED FOR TENDER 24.05.14 | SA ORIGINAL SIGNED s TYPE A JACKING DETAILS 6
NO.| REVISIONS DATE | BY | DATE 240514 i Do oz || oo D STIOn




	Sheets and Views
	Layout1


